2019 RN @ A A e gt —
H

v RS (ARGEIE 17 /i, BRI S 73, 3k 85 p. AERR/INVESS H

DL I, R — IR A i H 22K )

L.

A.

.73 B. —— C.3 D.
3

Ry =V1-2 B SOEGE )

. {x|x > —l} B. {x|x < l} C. {x|—l <x< 1} D. {x|x < —l}

AN

WA U={1,2,3, 4} & M=(3,4}, Wc,m=C )

(2,3} B. {2, 4} C. {1, 2} D. {1, 4}

BRIy = cosdx /D IERIEA A ¢ )

e B. ~ C.z D.ox
4

2

LB b=0; By = e+ b BB AR BRI AL, T C )
- R O FE 0 SR A EA R A B A

. e LB

- I O BB AR e 00 54T

A S 7 A AR S B
. E&Dtana=%.|}1”tan(a+%)= ( )

! 1
3

CWo<x<1, U C )

. log, x>0 B. 0<2"<1 C. log, x<0 D.1<2<2

2

X+

1| 1 g
E>EE/‘J@¢;%7'§( )

. {x‘x>0ﬁx<—l} B. {x|—1<x<0} C. {x|x>—1} D. {x|x<0}

HL 4L WL T 4 NHER AT, HA S 2 ATHE R S, WA E]

www.clxlb.com




FHREIEE ¢ D

A. 4 F B. 2 Ff C. 8 D. 24 Ff

9. ZEfEa=(1, 1), b=(1, —1), W\U%a—%b: ¢ )

A. (1.2) B. (-1.2) C. (1, -2) D. (-1, -2)

10. log,1+162 +(-2)"= ()

A2 B. 4 C.3 D.5

11 By =x* —ax—5 B 5 x 32 T A, B AL, W [AB|=
A3 B. 4 C.6 D.5

12. FHIREH, AREEREmE ¢ D

A y=_2 B. y=—2x+3 C. y=x’—3 D. y=3cosx

X

2

2
13. ﬂlﬂﬂéﬂ%%—%:l MfERikbre ¢ O

A((), _\/7)7 (O’ \/7) B.(_ﬁ7 0)7 (\/77 0)
C. (0, -5), (0, 5) D. (<5, 0), (5, 0)

14, HEHZEmx+y-1=0 5 HZL 4x+2y+1=0"F4T, MWm= C )

A -1 B.0 C.2 D. 1
15, fEEE L H A o}, # aa, =6, W aaaa, = ( )
A. 12 B. 36 C. 24 D. 72

16. CEIBREL £(x) I SUFA R, B r@oy=4x+L M ry= ¢

A9 B.5 C.7 D.3

17. 9, & BMSI T — 0, CAH S 10 RN 0.9, &
S 10 AR N 0.5, MIF. Z#RHF 10 RERN ¢ )

A.0.2 B. 0. 45 C.0.25 D.0.75

www.clxlb.com




T A RO 4 N, BN 4 gy, 3K 16 9))

18 I+ =1 B L5 .
19. I%l%[f(x):xz—2x+17£x:15\|‘l§]/‘]ﬂa*§ﬁyﬂ 0

20. WERE f(x)=x+b, Hr2)=3, WrB)=__

21. N—HEAR R LS (AR i 5 4R, MR, 1530 FREA%L
P (BAAL: mm): 110.8, 109.4, 111.2, 109.5, 109.1, MHZFEA
FEN  m.

=L RER R KIESL 4 /N, 3R 49 43 RN S TR A IR
22. ORI {a, } FEZHD], Ha =a+1

(1) 3R {a, } A2 ds

2 Ha =2, Kia | IET 20 Bifis,.

www.clxlb.com




23. %EAABC EF', E%D B=75° \ cosczg

(1) 3R cos 4 ;

(2) # BC=3, 3K AB.

24. (A/NEIH 5y 12 47)

B AR xov 1, CHIOM T FEA X +)* —2x+2y-6=0,
OO0 £ 3t i M.

(1) 3RO0 17525

(2)IFEMH: HZx-y+2=050M, OO0 #HI.

www.clxlb.com




25. CVRNBREN £(x)=2x° —12x+1, 3R £(x) [P 518 X ] AR AR

www.clxlb.com




2019 SER N =B e i A 2 E g — %R
LRGN
1. [&XK]C

[A#HT] Cud=U-M={1, 2}.
(EETA
U545 k] AEE A T = A e B foe /IS IE IR i A
UARATY B = cosax FU /N E F T =25 - 2T 2.
3. [%%18B
(545 Ak Y AREH A T 4 558 B i AR s
[t ] b =0— y=ko+b IS AARRIR £, T p = koo + b G0 AL KRS AT
—~b=0, FILHZ ORI FREZM.
4. [&FXE]1C
(o515 Ridk 1 AR 2 1 A AT = AR R B0 R AL

x tanoz+tanz l+1
[t ] tan(a+z): 4 -2 =3.

l—tanatang l—lxl
4 2

oY

5. [&X]1C
U545 ik ] ASEEE A T R 5 e SR SR A
UAHT] M1 200, By =VI-X HEL FTARE Y =V1-2 1]
RS 1< x <1}
6. [&%1D
(545 M3k ] AREEA T Fa 800 205 X Bk B A A5

www.clxlb.com



[ﬁfﬁ‘ﬁ’ HMo<x<1Hf, 1<2<2, log,x<0,log, x>0

2

7. [HXE]1A
(516 k] A E A EAZERM AR A

[t ] %>%:>x+%>%azx+%<—%,ﬂﬂx>0%<—1,Eﬁzé’éXﬂEK%

X+

AN {afx > 08x < 1]
- [EE1A
(516 sk ] AE A 7 HESIALE B R s
CiEdT ] W C 2 E I m A HEE R €0 4 =4 Tl
9. [&E%18
[EE AR Y AR T n) & 1)is B A R R A
[T ] —a——b—l(ll)——(l = (—1, 2)
10. [#&%1D
(516 Rk Y A% & [ IREeR 805 W Hes s F R RTR AL

!
[AEHT] log 14162 +(=2)° =0+4+1=5

[EFZEIC

[FMT] & y=x—4x-5=0, fRfFx=—18x=5, #HA, BFSEKILE
29| AB|=6.
12. [#%]1 A

(2515 TR Y AL & T eR A A P A R A

[T X A g, f(—x)=——=;=—f(x) W f(x)=—= S AT R AL

= |

13. [ZX]1D

www.clxlb.com




14. [&%1C

(515 k] AEEE T ELNAE X RIATR A
Uit ] W EZ AT RIS, W -m=-—2, Blm=2.
15. [%%18B

(515 mdR ] AE A T & LB I AR

LMY a,a,a.a, = aya, e aa, = (a,a,) =36.

16. [&%1D

[T ] f(l)=f(2x%)=4x%+l=3

17. [ZX]18B

[iddT] FZER S R 10 PRI P=0. 9X 0. 5=0. 45.

18. [&%]

pe

[fetr) BB@nl 50, a=2, b=1, ﬁc:“/“2+b2:*/§'%‘t“$€:§:7

19. [&%E10
M) F(o)=(2—2x+1)=2x-2, W f/(1)=2x1-2=0

www.clxlb.com




20. [&%]14

[5G k] A 7 — 0 — R B AR A

CAEATY IR AT f(2)=2+b=3, f8b=1, W f(3)=3+b=3+1=4.
21. [&%10.7

(B Sk ] AR A 7 REAR TS 2 I R1R A

[ﬁﬁ*ﬁ] ﬁézliilziéﬂﬁ)?:110'8+109'4+111'2+109'5+109'1:110

5
WA TS 22
g (110.8-110) +(109.4—110) +(111.2-110) +(109.5-110) +(109.1-110) _ '
5 :
22. [E%]

(DBRENL, Fla;=a,+2d,

E&Cls :a3+2d:a3_1, , ‘[H:ﬁdz—%

(2) HHEJ n WA~ XA 15

20x(20-1)

S, =20a, + d

:20x2+—2ox(20_1)x(—1j
2 2

=-55

3. (1) H COSC:g?%l‘ C=45° .
M A=180° -75° -45° =60° . Al cosA=cos 60° :;_

() thiF e B¢ _ 48

sind sinC

3, V2
BCsinC
sin 4 ﬁ
2

24. [BZR]

www.clxlb.com




(1) OM AT ABRAETTFE (x—1)2 + (v+1)* = (242)?
FE M AR (1, — 1),

KN =242,

OO0 L Ay A bR S5 AT

AR HAREIT RN« + % =12,

OO0 M AL, A =2

I OO0 MIFRHETTRE N 22 + 32 = 2.

A am— :|1+1+2|:
(2) M B ELEEE 4, 7 242

e L P :|o+0+2|:
RO B EZEIEE g, 7 V2

HOM MO0 KB B H L x - y+2=0 FIBEEIE T HA1R,

HIEZ x-y+2=05OM O O#AYI.

25. [&H%]

f1(x)=6x"-12% f(x)=0

A x =42, x,==2

Mx<—28x>V2 0, f(x)>0;

B2 <x<V2IF, £ <05 #L G BRI IR (—0, 2] (V2.40]
BRI X [A) 2 (2,421 B =—V2 I, BREUIAS IR £(—V2) =82 +1;
Hx=~2 0, RBEIEH/IME f(2)=-8v2+1

www.clxlb.com






